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00 (z)0000000 ADDDOODO AAD standard deviation DO 00000000 O
(AA)* = ((AA)%) = (A= (A)*) = (A* = 2(A) A + (A)?)
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000000000000 00000000000000 ADDOOO ¢, 000000
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m C
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n0000000000

n

O (x) = > cighi(x). (10.1)

0oon -
[ oi@sswar =8, 0DD0OD), (10.2)
'"1 oi(x)gi(2)=46(x—2') (00D DOOOOOD) (10.3)

0000000000 ¢(x000000 (e1,¢0,-+7,¢,)'0 100000000

(&1

C2

()= | . (10.4)
Cn
D00000000oO0ood
el =1 (10.5)
=1

000000
2.00000000(CO000)
0000000 A000OD ¢(z) 0000000000 ¢(z)000000

Ag(r) = o(z). (10.6)



MO0 ADD0D0O0O0DO0O00O0O00O00O0O0000O0000000000 A0OO
(basis){¢;(z),i =1,2,---,n} 000000000

[ #i@)Aos(@)da = A, (10.7)
0000000000 ADOO {4;,4,j=1,2,---,n}0 100000000
All A12 Aln
Ae A?‘%Qf'A@ . (10.8)
Au A Au

.00000000000000000000000000000000000
00 A(=A; , nxn)000000 (Hermite) 0000000000000

Ajj = A3, (complex conjuge, 0O 0O0) (10.9)
godooooooooooodgo
A=A (f:daggr 000DO00ODO0D0)) (10.10)

godgobboobboboodbbouooobuobuooooobooboboon
goog

A = U¢ VA (x dx} = [ 6@ 6; (@)d (10.11)
= /¢f 2)Ad;(z)dx (10.12)
= Ay (10.13)

goddgubooodbobooouoooon

goobobbooggobo

00000000000 0000o0OoOo0OooooD (A;=A,)000000000O
gbodggoboboooboboodbooobbobobuoooooobbuoobo
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OoooobOooooobooooOoDOobOb0ooOOo0boboOooOooboOoOoDDoD A
Oigooooo nODOoobDh,00000

S A =Nxy (4,=0,1,2,---,n). (10.14)
0 (1014)0000000 ¢2,000000000000000

PR M%_Azmy (10.15)

j,k=1 k=1

0 (10.15) 000000000000
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Do A ap =AY gl (10.16)

J,k=1 J,k=1

0 (10.16) 000 = Z Ty Agj - xp = Z xki'Ajk'x;i
Jk=1 Jk=1

7,k=1
= N Z |33ji|2 (10.17)
0 (10.16), (10.17) O O j=1
s = XD 2 Jasil” = (10.18)

Jj=1

D0000000000000000000000000000000000000
00000000y, |wP#00000000

N=X (\:00)0 (0OoOo0o) (10.19)

s.0uudubooobobobobod
gbogobdoubooooboooooobogd

Hip(z) = Ey(x) (10.20)

000000000 (10.)oooooo

IS ¢s65(@)] = B[S e6,(a)] (10.21)

J=1 J=1

0000000 ¢f(x)000000000
> Hjjcj=Fc¢, i=1,2,-,n (10.22)
j=1

oo0o000 (a,e,---,¢,)00000000000000O0O00O0O0DOODOOOODOO
gboggbogouooogg

Hy Hyy --- Hyy, C1 &1
. Hyy Hyy --- Hyy, c c
Ay@)=Ev@) e | 2 TN T =E| ] (10.23)
Hnl Hn2 e H’rm Cp Cp

gdtdoooon 1o 1o oooouooouoouoooon
Hz‘jE/Qbf(x)ﬁ%(x)dx (10.24)
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|H; — Ed;;| =0, (10.25)
Hy, —FE Hy Hy,
= M = B Hon = 0. (10.26)
Ho Hyo Hpop —
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000000000000 (105)00000000000000, 0000000
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1,2,---,n}0000000000 000000 EOD000OODOOODDOOOOOO
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Hyy Hyp Hy, C1k Cik
A Hy  Hy Hy, Cok Cok
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0000 0000000 (k=1,2,---,n00000000000000000000
00000000000000000000000000000000000000
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.0000000000000
00000000000000000000000000 {g(z),k=1,2,--,n}0
00000000000000000000000000000000
U(x) =Y dppr(z) (10.28)
k=1
000020000000000000000000000000000000
0000000000000000000000000000000000000:

bi(r) = ;UM on(@), (i=1,2,-+ ), (10.29)

U = / ot (x) i () d. (10.30)
0(10.)D000o10.2800000000

Wﬂzé%é%%@) (10.31)

= (3 Une)enla) (10.32)
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dy =Y Ukici (10.33)

i=1
googboooogobboooobobo

doldel> =1 (10.34)
k=1

00000000000000000000000 (e1,6,--+,¢0), (di, day -, dp)t O

000000000000000000 {Uyy,i,j=1,2,---,n}00000000000

Ut = vut=I0(:0000), (10.35)
Y UiUip = D UalUj =0y, (1,5 =1,2,---,n). (10.36)
k=1 k=1

gbuogoogobouooobouboobbobbobbboobobboboabbn
gogobobogobbbooboboboooooon

Ay = [l dpias (10.37)
> [ 6@ Ui () d = > Ui [ 1) Adu()dn)Ui; (10.39)
= 2 Undu U, (10.39)
- Z;TAU)”' (10.40)

10.2 0OOOOOOOOOO0O0O
10.2.1 OOOdOooodn

1.(000000000O000000000O0O00O0O0O0000DOO0O00OO0OOO
2000000000000 (—o<z<o0)
. 0tuuuoob20000boooobbbdz0d0doooobb:-0o0oagg

Yem (0, ¢)
T 27w
/0 /0 Y7 (6, 6) Yo (6, &) 51 0d0dd = 8716, (10.41)

4.0000000000 1< <1000 0O0ODOODODODODO

+1 2
[ Pia)Pol@)de = b o

(10.42)

11 000000000000 &

gogobgobooobbboooobboooobobouobbboboooobobaa
gbobboboobdgobooubobooouogbobbbooobbbbooooon
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gbobbooobbbbouogbbuodgbbobbboubobbuougbobbooob
goubogooboogbbdgbobogbbboobboobbobbooboobbboouoa
gbobboobbodabuobobobooobbboooooobobobbodgbbob b
gboddoouooouoobouoobboouooobbooboooobooboob ™
guobbbboboboggooboboobbobbouoboobbodabobboobon
goouodaoogd

gogbbbooogoboboogd
gbbouggobouoooobuobodaoo

d{z)

ol dt/ (z,t)xV(z,t)d
[ OV () oo OV (z,t)
= /_OO o x\I!(:c,t)d:IJ+/_oo U*(z,t)x 5 dx
R et M C)) . 0%V (z,t)

ggbobbobogbbobbbouobbooobobbooobon

(000 10000) = /J:O%%x\ll(x,t)dx
_ [%xm,mtg -/ zo% : a%[x\lf(x,t)]dx
_ _[q;*(x,t)%i’ﬂ]ngr/::\D (=, t)aa—[xlll(x 1]dx
[ 9 "Wz t)
_ /_OO v (x,t)[?(ax)\ll(x,t)+x el (11.2)

Jdopooooooooooogooonoooggonoooo oo og oo go 11.14g
gdodpoogo
d,« (ps) ,. RO
dt<x>_ m ' (P = i@x)
Jdoodooodoooooooonooooonooooooog oo bobogonoooogno

(11.3)

gogboboooobobouoooon
gboduoogbbouoobbbbuoobooobon

dp,)  d ot hD
- E/_oo (o, )7 (o, )do

dt
oo QU (z, ) h 0¥ (x,1) . h 9 0V(x,i)
/_oo[ o i or TV @ga (g ld

too § o h? 0P h OV (z,t)

[ Gl + U 07 =0
i h? 0?

%[_%W_'—U] ($,t)}dl’

+U*(x,t)

27



- /+OO\I/*(x,t)[—g—U]\I/(x,t)dx

—00 T
5 2
- B Ty = () (11.4)
0000000000000 (=0000000200000000000000
ooo0oooooooooooooooooOoboboooOobOboOoOoObOobOOooDOon
OooboooooooooooooooooooboboOoooboOonooooOoooon
0000000000000 Ehrenfest’s theorem) 00 00

11.2 0O0Ogoogd

goboogooboobbbbuoobbbbbobobooobooouobboo
gobbobogobobdgobogbogbuodgoobbouooboboboobooboo
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Up(2,t) = c(k)eltke=t) (11.5)
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D0 wd0O hw="0r%*/2mO0m0000000000000ODODD AODO00O0O0DO0
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U(z,t) = / c(k)eithe =) g, (11.6)

googgoobgoogo
O0000¢t=00000x=000000000000000000000 Rky = po
guodbooooobbooouoooooboo

2

U(z,0) = Aexp(—% + ikyx) (11.7)

000000000000 P=|¥(x,0)?’0000000 8,000000

2

2, (11.8)

a2

P = [¥(z,0)]* = |A]* exp(
Bk

m
000000000 |z|~e000000000000D00ODO REKKODODDODODOOOODOO
gooooodooilteoood

S. = |AP (11.9)

U(z,0) = /c(k)e“mdk; (11.10)
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- Ner: exp{—%cﬂ(k} — ko)*} (11.11)
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